



Tabulation of Bids

Project: Sheridan Road - Phase II (Eleanor PI to Richmond Ave)
 County: Peoria Date: 8-Jan-20
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761 Time: 11:00 AM
 Section: 18-00372-01-PV Appropriation: _____
 Estimate: \$3,725,000.00

Name of Bidder: Address of Bidder:	Illinois Civil Contractors, Inc. 420 Pinecrest Dr East Peoria, IL 61611	R.A. Cullinan & Son, UCM 121 W Park St, PO Box 166 Tremont, IL 61568	Otto Baum Company 866 N Main St Morton, IL 61550
Proposal Guarantee: Terms:	5% Bid Bond	5% Bid Bond	5% Bid Bond

Attended By: City of Peoria: B. Lewis, S. Letsky, F. Muhammad, M. Mahoney; IDOT: S. Alwan, Al-Barrae Shebib; Contractors: UCM Rep, ICCI Rep, Otto Baum Rep; Consultants: B. Beckstrom (Hanson), C. Lynn (Maurer Stutz)

Approved Engineer's Estimate			
------------------------------	--	--	--

Item No.	Item	Unit	Quantity	Unit Price	Total						
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	10.00	\$ 75.00	\$ 750.00	\$ 65.18	\$ 651.80	\$ 87.45	\$ 874.50	\$ 77.70	\$ 777.00
20200100	EARTH EXCAVATION	CU YD	5,614.00	\$ 32.00	\$ 179,648.00	\$ 46.51	\$ 261,107.14	\$ 45.19	\$ 253,696.66	\$ 43.89	\$ 246,398.46
20800150	TRENCH BACKFILL	CU YD	560.00	\$ 50.00	\$ 28,000.00	\$ 35.85	\$ 20,076.00	\$ 34.65	\$ 19,404.00	\$ 32.59	\$ 18,250.40
21101615	TOPSOIL FURNISH AND PLACE, 4"	SQ YD	2,255.00	\$ 8.00	\$ 18,040.00	\$ 9.49	\$ 21,399.95	\$ 8.35	\$ 18,829.25	\$ 8.45	\$ 19,054.75
25000400	NITROGEN FERTILIZER NUTRIENT	POUND	31.00	\$ 6.00	\$ 186.00	\$ 7.60	\$ 235.60	\$ 7.35	\$ 227.85	\$ 7.44	\$ 230.64
25000500	PHOSPHORUS FERTILIZER NUTRIENT	POUND	31.00	\$ 6.00	\$ 186.00	\$ 7.60	\$ 235.60	\$ 7.35	\$ 227.85	\$ 7.44	\$ 230.64
25000600	POTASSIUM FERTILIZER NUTRIENT	POUND	31.00	\$ 6.00	\$ 186.00	\$ 7.60	\$ 235.60	\$ 7.35	\$ 227.85	\$ 7.44	\$ 230.64
25200110	SODDING, SALT TOLERANT	SQ YD	2,255.00	\$ 11.00	\$ 24,805.00	\$ 12.76	\$ 28,773.80	\$ 12.34	\$ 27,826.70	\$ 12.49	\$ 28,164.95
25200200	SUPPLEMENTAL WATERING	UNIT	31.00	\$ 60.00	\$ 1,860.00	\$ 97.77	\$ 3,030.87	\$ 94.50	\$ 2,929.50	\$ 95.65	\$ 2,965.15
28000250	TEMPORARY EROSION CONTROL SEEDING	POUND	47.00	\$ 5.00	\$ 235.00	\$ 4.35	\$ 204.45	\$ 4.20	\$ 197.40	\$ 5.49	\$ 258.03
28000400	PERIMETER EROSION BARRIER	FOOT	239.00	\$ 10.00	\$ 2,390.00	\$ 4.70	\$ 1,123.30	\$ 9.13	\$ 2,182.07	\$ 6.56	\$ 1,567.84
28000510	INLET FILTERS	EACH	20.00	\$ 250.00	\$ 5,000.00	\$ 289.21	\$ 5,784.20	\$ 385.83	\$ 7,716.60	\$ 231.98	\$ 4,639.60
28200200	FILTER FABRIC	SQ YD	3,191.00	\$ 3.00	\$ 9,573.00	\$ 2.91	\$ 9,285.81	\$ 3.21	\$ 10,243.11	\$ 3.07	\$ 9,796.37
30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	SQ YD	7,569.00	\$ 32.00	\$ 242,208.00	\$ 21.55	\$ 163,111.95	\$ 22.87	\$ 173,103.03	\$ 22.51	\$ 170,378.19
35100100	AGGREGATE BASE COURSE, TYPE A	TON	2,922.00	\$ 40.00	\$ 116,880.00	\$ 41.09	\$ 120,064.98	\$ 44.98	\$ 131,431.56	\$ 40.38	\$ 117,990.36
35101400	AGGREGATE BASE COURSE, TYPE B	TON	168.00	\$ 45.00	\$ 7,560.00	\$ 36.54	\$ 6,138.72	\$ 78.51	\$ 13,189.68	\$ 46.27	\$ 7,773.36
35300300	PORTLAND CEMENT CONCRETE BASE COURSE 8"	SQ YD	320.00	\$ 80.00	\$ 25,600.00	\$ 151.32	\$ 48,422.40	\$ 249.70	\$ 79,904.00	\$ 74.04	\$ 23,692.80
40201000	AGGREGATE FOR TEMPORARY ACCESS	TON	857.00	\$ 40.00	\$ 34,280.00	\$ 46.33	\$ 39,704.81	\$ 46.02	\$ 39,439.14	\$ 21.38	\$ 18,322.66
40600275	BITUMINOUS MATERIALS (PRIME COAT)	POUND	16,144.00	\$ 1.50	\$ 24,216.00	\$ 0.55	\$ 8,879.20	\$ 0.51	\$ 8,233.44	\$ 0.54	\$ 8,717.76
40600295	POLYMERIZED BITUMINOUS MATERIALS (TACK COAT)	POUND	3,267.00	\$ 4.00	\$ 13,068.00	\$ 5.33	\$ 17,413.11	\$ 4.91	\$ 16,040.97	\$ 5.22	\$ 17,053.74
40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	SQ YD	140.00	\$ 30.00	\$ 4,200.00	\$ 53.77	\$ 7,527.80	\$ 49.50	\$ 6,930.00	\$ 52.61	\$ 7,365.40
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	1,477.00	\$ 95.00	\$ 140,315.00	\$ 149.66	\$ 221,047.82	\$ 137.77	\$ 203,486.29	\$ 146.42	\$ 216,262.34
40603230	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	1,658.00	\$ 105.00	\$ 174,090.00	\$ 154.24	\$ 255,729.92	\$ 141.98	\$ 235,402.84	\$ 150.89	\$ 250,175.62
40603535	POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	TON	845.00	\$ 115.00	\$ 97,175.00	\$ 160.51	\$ 135,630.95	\$ 147.75	\$ 124,848.75	\$ 157.02	\$ 132,681.90
40800050	INCIDENTAL HOT-MIX ASPHALT SURFACING	TON	30.00	\$ 300.00	\$ 9,000.00	\$ 420.08	\$ 12,602.40	\$ 386.69	\$ 11,600.70	\$ 410.96	\$ 12,328.80
42001300	PROTECTIVE COAT	SQ YD	989.00	\$ 3.00	\$ 2,967.00	\$ 0.52	\$ 514.28	\$ 2.47	\$ 2,442.83	\$ 1.33	\$ 1,315.37
42300200	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	SQ YD	280.00	\$ 70.00	\$ 19,600.00	\$ 70.90	\$ 19,852.00	\$ 88.92	\$ 24,897.60	\$ 82.77	\$ 23,175.60
42300400	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH	SQ YD	1,196.00	\$ 75.00	\$ 89,700.00	\$ 73.50	\$ 87,906.00	\$ 98.01	\$ 117,219.96	\$ 81.40	\$ 97,354.40
42400100	PORTLAND CEMENT CONCRETE SIDEWALK 4 INCH	SQ FT	16,583.00	\$ 6.00	\$ 99,498.00	\$ 6.45	\$ 106,960.35	\$ 8.74	\$ 144,935.42	\$ 7.61	\$ 126,196.63
42400300	PORTLAND CEMENT CONCRETE SIDEWALK 6 INCH	SQ FT	217.00	\$ 10.00	\$ 2,170.00	\$ 6.90	\$ 1,497.30	\$ 11.18	\$ 2,426.06	\$ 15.10	\$ 3,276.70
42400800	DETECTABLE WARNINGS	SQ FT	165.00	\$ 30.00	\$ 4,950.00	\$ 22.93	\$ 3,783.45	\$ 37.44	\$ 6,177.60	\$ 28.30	\$ 4,669.50
44000100	PAVEMENT REMOVAL	SQ YD	8,833.00	\$ 12.00	\$ 105,996.00	\$ 19.95	\$ 176,218.35	\$ 11.89	\$ 105,024.37	\$ 12.06	\$ 106,525.98
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	1,297.00	\$ 13.00	\$ 16,861.00	\$ 21.11	\$ 27,379.67	\$ 13.20	\$ 17,120.40	\$ 13.16	\$ 17,068.52
44000300	CURB REMOVAL	FOOT	482.00	\$ 6.00	\$ 2,892.00	\$ 10.61	\$ 5,114.02	\$ 8.98	\$ 4,328.36	\$ 7.45	\$ 3,590.90
44000500	COMBINATION CURB AND GUTTER REMOVAL	FOOT	3,494.00	\$ 6.00	\$ 20,964.00	\$ 11.26	\$ 39,342.44	\$ 9.89	\$ 34,555.66	\$ 7.76	\$ 27,113.44
44000600	SIDEWALK REMOVAL	SQ FT	22,104.00	\$ 2.00	\$ 44,208.00	\$ 1.64	\$ 36,250.56	\$ 1.10	\$ 24,314.40	\$ 1.79	\$ 39,566.16
50901760	PIPE HANDRAIL	FOOT	216.00	\$ 225.00	\$ 48,600.00	\$ 112.03	\$ 24,198.48	\$ 152.51	\$ 32,942.16	\$ 154.37	\$ 33,343.92
52200900	CONCRETE STRUCTURES (RETAINING WALL)	CU YD	147.00	\$ 900.00	\$ 132,300.00	\$ 850.00	\$ 124,950.00	\$ 1,102.50	\$ 162,067.50	\$ 1,120.08	\$ 164,651.76
550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	FOOT	303.00	\$ 65.00	\$ 19,695.00	\$ 78.22	\$ 23,700.66	\$ 75.60	\$ 22,906.80	\$ 105.31	\$ 31,908.93
550A0380	STORM SEWERS, CLASS A, TYPE 2 18"	FOOT	221.00	\$ 80.00	\$ 17,680.00	\$ 77.13	\$ 17,045.73	\$ 74.55	\$ 16,475.55	\$ 92.23	\$ 20,382.83
550A0400	STORM SEWERS, CLASS A, TYPE 2 21"	FOOT	384.00	\$ 120.00	\$ 46,080.00	\$ 65.18	\$ 25,029.12	\$ 63.00	\$ 24,192.00	\$ 104.17	\$ 40,001.28
550A0680	STORM SEWERS, CLASS A, TYPE 3 18"	FOOT	250.00	\$ 100.00	\$ 25,000.00	\$ 114.07	\$ 28,517.50	\$ 110.25	\$ 27,562.50	\$ 119.42	\$ 29,855.00
55100400	STORM SEWER REMOVAL 10"	FOOT	121.00	\$ 10.00	\$ 1,210.00	\$ 40.19	\$ 4,862.99	\$ 38.85	\$ 4,700.85	\$ 36.89	\$ 4,463.69
55100500	STORM SEWER REMOVAL 12"	FOOT	97.00	\$ 15.00	\$ 1,455.00	\$ 154.26	\$ 14,963.22	\$ 149.10	\$ 14,462.70	\$ 37.05	\$ 3,593.85
55100700	STORM SEWER REMOVAL 15"	FOOT	91.00	\$ 15.00	\$ 1,365.00	\$ 102.12	\$ 9,292.92	\$ 98.70	\$ 8,981.70	\$ 40.13	\$ 3,651.83
55100900	STORM SEWER REMOVAL 18"	FOOT	127.00	\$ 20.00	\$ 2,540.00	\$ 160.78	\$ 20,419.06	\$ 155.40	\$ 19,735.80	\$ 40.16	\$ 5,100.32
56100015	DUCTILE IRON WATER MAIN TEE, 8" X 6"	EACH	3.00	\$ 1,325.00	\$ 3,975.00	\$ 461.69	\$ 1,385.07	\$ 446.25	\$ 1,338.75	\$ 529.20	\$ 1,587.60
56100020	DUCTILE IRON WATER MAIN TEE, 8" X 8"	EACH	2.00	\$ 1,325.00	\$ 2,650.00	\$ 543.17	\$ 1,086.34	\$ 525.00	\$ 1,050.00	\$ 580.54	\$ 1,161.08
56103000	DUCTILE IRON WATER MAIN 6"	FOOT	53.00	\$ 70.00	\$ 3,710.00	\$ 271.58	\$ 14,393.74	\$ 262.50	\$ 13,912.50	\$ 59.53	\$ 3,155.09
56103100	DUCTILE IRON WATER MAIN 8"	FOOT	1,344.00	\$ 85.00	\$ 114,240.00	\$ 76.04	\$ 102,197.76	\$ 73.50	\$ 98,784.00	\$ 59.53	\$ 80,008.32
56108900	TAPPING VALVES AND SLEEVES 8"	EACH	4.00	\$ 3,000.00	\$ 12,000.00	\$ 5,105.77	\$ 20,423.08	\$ 4,935.00	\$ 19,740.00	\$ 3,804.64	\$ 15,218.56
56109400	DUCTILE IRON WATER MAIN FITTINGS 8" 11.25 DEGREE BEND	EACH	1.00	\$ 700.00	\$ 700.00	\$ 434.53	\$ 434.53	\$ 420.00	\$ 420.00	\$ 315.33	\$ 315.33
56109420	DUCTILE IRON WATER MAIN FITTINGS 8" 45.00 DEGREE BEND	EACH	24.00	\$ 900.00	\$ 21,600.00	\$ 434.53	\$ 10,428.72	\$ 420.00	\$ 10,080.00	\$ 323.88	\$ 7,773.12



Tabulation of Bids

Project: Sheridan Road - Phase II (Eleanor Pl to Richmond Ave)
 County: Peoria Date: 8-Jan-20
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761 Time: 11:00 AM
 Section: 18-00372-01-PV Appropriation: _____
 Estimate: \$3,725,000.00

Name of Bidder: Address of Bidder:	Illinois Civil Contractors, Inc. 420 Pinecrest Dr East Peoria, IL 61611	R.A. Cullinan & Son, UCM 121 W Park St, PO Box 166 Tremont, IL 61568	Otto Baum Company 866 N Main St Morton, IL 61550
Proposal Guarantee: Terms:	5% Bid Bond	5% Bid Bond	5% Bid Bond

Attended By: City of Peoria: B. Lewis, S. Letsky, F. Muhammad, M. Mahoney; IDOT: S. Alwan, Al-Barrae Shebib; Contractors: UCM Rep, ICCI Rep, Otto Baum Rep; Consultants: B. Beckstrom (Hanson), C. Lynn (Maurer Stutz)

Approved Engineer's Estimate			
------------------------------	--	--	--

Item No.	Item	Unit	Quantity	Unit Price		Total		Unit Price		Total		Unit Price		Total	
58109434	DUCTILE IRON WATER MAIN FITTINGS 8" 90.00 DEGREE BEND	EACH	4.00	\$ 1,000.00	\$ 4,000.00	\$ 434.54	\$ 1,738.16	\$ 420.00	\$ 1,680.00	\$ 345.88	\$ 1,383.52				
56400600	FIRE HYDRANTS	EACH	3.00	\$ 3,000.00	\$ 9,000.00	\$ 2,715.84	\$ 8,147.52	\$ 2,625.00	\$ 7,875.00	\$ 2,725.46	\$ 8,176.38				
59300100	CONTROLLED LOW-STRENGTH MATERIAL	CU YD	601.00	\$ 90.00	\$ 54,090.00	\$ 80.53	\$ 48,398.53	\$ 0.01	\$ 6.01	\$ 55.00	\$ 33,055.00				
60108204	PIPE UNDERDRAINS, TYPE 2, 4"	FOOT	2,234.00	\$ 20.00	\$ 44,680.00	\$ 4.00	\$ 8,936.00	\$ 2.84	\$ 6,344.56	\$ 7.44	\$ 16,620.96				
60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	6.00	\$ 3,750.00	\$ 22,500.00	\$ 3,453.53	\$ 20,721.18	\$ 6,057.11	\$ 36,342.66	\$ 5,437.66	\$ 32,625.96				
60218500	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 3 FRAME AND GRATE	EACH	2.00	\$ 4,000.00	\$ 8,000.00	\$ 3,339.62	\$ 6,679.24	\$ 4,153.13	\$ 8,306.26	\$ 3,970.09	\$ 7,940.18				
60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	2.00	\$ 5,500.00	\$ 11,000.00	\$ 6,924.53	\$ 13,849.06	\$ 9,312.10	\$ 18,624.20	\$ 9,274.54	\$ 18,549.08				
60236200	INLETS, TYPE A, TYPE 8 GRATE	EACH	1.00	\$ 1,500.00	\$ 1,500.00	\$ 1,412.24	\$ 1,412.24	\$ 1,365.00	\$ 1,365.00	\$ 1,731.36	\$ 1,731.36				
60240215	INLETS, TYPE B, TYPE 1 FRAME, CLOSED LID	EACH	1.00	\$ 1,900.00	\$ 1,900.00	\$ 2,064.04	\$ 2,064.04	\$ 4,797.13	\$ 4,797.13	\$ 2,175.38	\$ 2,175.38				
60240220	INLETS, TYPE B, TYPE 3 FRAME AND GRATE	EACH	4.00	\$ 1,900.00	\$ 7,600.00	\$ 2,172.67	\$ 8,690.68	\$ 3,208.12	\$ 12,832.48	\$ 3,194.31	\$ 12,777.24				
60240310	INLETS, TYPE B, TYPE 11 FRAME AND GRATE	EACH	8.00	\$ 1,900.00	\$ 15,200.00	\$ 2,172.67	\$ 17,381.36	\$ 3,208.11	\$ 25,664.88	\$ 3,194.31	\$ 25,554.48				
60255500	MANHOLES TO BE ADJUSTED	EACH	1.00	\$ 650.00	\$ 650.00	\$ 545.07	\$ 545.07	\$ 2,802.13	\$ 2,802.13	\$ 1,579.99	\$ 1,579.99				
60256700	MANHOLES TO BE ADJUSTED WITH NEW TYPE 11 FRAME AND GRATE	EACH	1.00	\$ 1,000.00	\$ 1,000.00	\$ 434.53	\$ 434.53	\$ 1,528.12	\$ 1,528.12	\$ 1,504.50	\$ 1,504.50				
60260100	INLETS TO BE ADJUSTED	EACH	1.00	\$ 500.00	\$ 500.00	\$ 2,393.26	\$ 2,393.26	\$ 1,108.12	\$ 1,108.12	\$ 1,305.98	\$ 1,305.98				
60500060	REMOVING INLETS	EACH	6.00	\$ 400.00	\$ 2,400.00	\$ 814.75	\$ 4,888.50	\$ 787.50	\$ 4,725.00	\$ 511.13	\$ 3,066.78				
60600605	CONCRETE CURB, TYPE B	FOOT	2,010.00	\$ 35.00	\$ 70,350.00	\$ 32.81	\$ 65,948.10	\$ 42.18	\$ 84,781.80	\$ 48.82	\$ 98,128.20				
60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	FOOT	246.00	\$ 40.00	\$ 9,840.00	\$ 63.93	\$ 15,726.78	\$ 62.21	\$ 15,303.66	\$ 76.46	\$ 18,809.16				
60604400	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.18	FOOT	1,423.00	\$ 35.00	\$ 49,805.00	\$ 41.08	\$ 58,456.84	\$ 47.77	\$ 67,976.71	\$ 55.32	\$ 78,720.36				
66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	50.00	\$ 90.00	\$ 4,500.00	\$ 96.52	\$ 4,826.00	\$ 102.94	\$ 5,147.00	\$ 141.73	\$ 7,086.50				
66900530	SOIL DISPOSAL ANALYSIS	L SUM	1.00	\$ 1,200.00	\$ 1,200.00	\$ 1,319.90	\$ 1,319.90	\$ 945.00	\$ 945.00	\$ 1,291.26	\$ 1,291.26				
66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	LSUM	1.00	\$ 2,500.00	\$ 2,500.00	\$ 2,335.62	\$ 2,335.62	\$ 2,940.00	\$ 2,940.00	\$ 15,319.68	\$ 15,319.68				
66901002	ON-SITE MONITORING OF REGULATED SUBSTANCES	CAL DA	1.00	\$ 1,300.00	\$ 1,300.00	\$ 1,357.92	\$ 1,357.92	\$ 892.50	\$ 892.50	\$ 1,527.72	\$ 1,527.72				
66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	LSUM	1.00	\$ 2,500.00	\$ 2,500.00	\$ 2,281.30	\$ 2,281.30	\$ 1,942.50	\$ 1,942.50	\$ 15,372.81	\$ 15,372.81				
67000500	ENGINEER'S FIELD OFFICE, TYPE B	CAL MO	11.00	\$ 1,200.00	\$ 13,200.00	\$ 1,200.00	\$ 13,200.00	\$ 2,154.48	\$ 23,699.28	\$ 2,214.05	\$ 24,354.55				
67100100	MOBILIZATION	L SUM	1.00	\$190,000.00	\$ 190,000.00	\$ 210,000.00	\$ 210,000.00	\$121,966.51	\$ 121,966.51	\$223,338.37	\$ 223,338.37				
78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	266.00	\$ 6.00	\$ 1,596.00	\$ 5.97	\$ 1,588.02	\$ 5.78	\$ 1,537.48	\$ 5.85	\$ 1,556.10				
78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	FOOT	6,902.00	\$ 2.00	\$ 13,804.00	\$ 1.88	\$ 12,975.76	\$ 1.82	\$ 12,561.64	\$ 1.84	\$ 12,699.68				
78009008	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	FOOT	1,396	\$ 4.00	\$ 5,584.00	\$ 3.75	\$ 5,235.00	\$ 3.62	\$ 5,053.52	\$ 3.67	\$ 5,123.32				
78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	FOOT	260.00	\$ 5.00	\$ 1,300.00	\$ 5.62	\$ 1,461.20	\$ 5.43	\$ 1,411.80	\$ 5.49	\$ 1,427.40				
78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	FOOT	496.00	\$ 10.00	\$ 4,960.00	\$ 11.41	\$ 5,659.36	\$ 11.03	\$ 5,470.88	\$ 11.16	\$ 5,535.36				
80400100	ELECTRIC SERVICE INSTALLATION	EACH	1.00	\$ 2,800.00	\$ 2,800.00	\$ 3,090.62	\$ 3,090.62	\$ 2,987.25	\$ 2,987.25	\$ 3,023.56	\$ 3,023.56				
80500100	SERVICE INSTALLATION, TYPE A	EACH	1.00	\$ 2,300.00	\$ 2,300.00	\$ 3,528.41	\$ 3,528.41	\$ 3,410.40	\$ 3,410.40	\$ 3,451.86	\$ 3,451.86				
81028190	UNDERGROUND CONDUIT, GALVANIZED STEEL, 1 1/2" DIA.	FOOT	32.00	\$ 20.00	\$ 640.00	\$ 14.94	\$ 478.08	\$ 14.44	\$ 462.08	\$ 14.61	\$ 467.52				
81028350	UNDERGROUND CONDUIT, PVC, 2" DIA.	FOOT	162.00	\$ 15.00	\$ 2,430.00	\$ 7.90	\$ 1,279.80	\$ 7.63	\$ 1,236.06	\$ 7.73	\$ 1,252.26				
81028370	UNDERGROUND CONDUIT, PVC, 3" DIA.	FOOT	89.00	\$ 23.00	\$ 2,047.00	\$ 12.66	\$ 1,126.74	\$ 12.23	\$ 1,088.47	\$ 12.38	\$ 1,101.82				
81028390	UNDERGROUND CONDUIT, PVC, 4" DIA.	FOOT	239.00	\$ 25.00	\$ 5,975.00	\$ 42.37	\$ 10,126.43	\$ 40.95	\$ 9,787.05	\$ 41.45	\$ 9,906.55				
81028740	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 1 1/2" DIA.	FOOT	2495.00	\$ 11.00	\$ 27,445.00	\$ 9.34	\$ 23,303.30	\$ 9.03	\$ 22,529.85	\$ 9.14	\$ 22,804.30				
81028750	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 2" DIA.	FOOT	500.00	\$ 11.00	\$ 5,500.00	\$ 5.86	\$ 2,930.00	\$ 5.66	\$ 2,830.00	\$ 5.73	\$ 2,865.00				
81028760	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 2 1/2" DIA.	FOOT	45.00	\$ 19.00	\$ 855.00	\$ 34.60	\$ 1,557.00	\$ 33.44	\$ 1,504.80	\$ 33.85	\$ 1,523.25				
81028770	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 3" DIA.	FOOT	65.00	\$ 20.00	\$ 1,300.00	\$ 15.44	\$ 1,003.60	\$ 14.92	\$ 969.80	\$ 15.10	\$ 981.50				
81400700	HANDHOLE, PORTLAND CEMENT CONCRETE	EACH	10.00	\$ 1,500.00	\$ 15,000.00	\$ 1,515.44	\$ 15,154.40	\$ 1,464.75	\$ 14,647.50	\$ 1,482.56	\$ 14,825.60				
81400720	DOUBLE HANDHOLE, PORTLAND CEMENT CONCRETE	EACH	1.00	\$ 2,850.00	\$ 2,850.00	\$ 2,900.51	\$ 2,900.51	\$ 2,803.50	\$ 2,803.50	\$ 2,837.58	\$ 2,837.58				
81702120	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 8	FOOT	14840.00	\$ 1.50	\$ 22,260.00	\$ 1.21	\$ 17,956.40	\$ 1.17	\$ 17,362.80	\$ 1.18	\$ 17,511.20				
81702140	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 4	FOOT	12350.00	\$ 2.00	\$ 24,700.00	\$ 1.68	\$ 20,748.00	\$ 1.63	\$ 20,130.50	\$ 1.65	\$ 20,377.50				
83600200	LIGHT POLE FOUNDATION, 24" DIAMETER	FOOT	84.00	\$ 190.00	\$ 15,960.00	\$ 229.22	\$ 19,254.48	\$ 221.55	\$ 18,610.20	\$ 224.24	\$ 18,836.16				
83800650	BREAKAWAY DEVICE, COUPLING WITH STAINLESS STEEL SCREEN	EACH	64.00	\$ 115.00	\$ 7,360.00	\$ 149.91	\$ 9,594.24	\$ 144.90	\$ 9,273.60	\$ 146.66	\$ 9,386.24				
85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	EACH	1.00	\$ 2,800.00	\$ 2,800.00	\$ 3,997.71	\$ 3,997.71	\$ 3,864.00	\$ 3,864.00	\$ 3,910.97	\$ 3,910.97				
85700200	FULL-ACTUATED CONTROLLER AND TYPE IV CABINET	EACH	1.00	\$ 7,500.00	\$ 7,500.00	\$ 23,079.18	\$ 23,079.18	\$ 22,307.25	\$ 22,307.25	\$ 22,578.41	\$ 22,578.41				
86200200	UNINTERRUPTABLE POWER SUPPLY, STANDARD	EACH	1.00	\$ 1,000.00	\$ 1,000.00	\$ 6,854.77	\$ 6,854.77	\$ 6,625.50	\$ 6,625.50	\$ 6,706.03	\$ 6,706.03				
87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	FOOT	1163.00	\$ 1.50	\$ 1,744.50	\$ 1.66	\$ 1,930.58	\$ 1.61	\$ 1,872.43	\$ 1.63	\$ 1,895.69				
87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	FOOT	722.00	\$ 1.50	\$ 1,083.00	\$ 1.50	\$ 1,083.00	\$ 1.45	\$ 1,046.90	\$ 1.47	\$ 1,061.34				
87301245	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 5C	FOOT	2218.00	\$ 1.50	\$ 3,327.00	\$ 1.65	\$ 3,659.70	\$ 1.60	\$ 3,548.80	\$ 1.62	\$ 3,593.16				
87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	FOOT	1209.00	\$ 2.50	\$ 3,022.50	\$ 2.24	\$ 2,708.16	\$ 2.16	\$ 2,611.44	\$ 2.19	\$ 2,647.71				
87301815	ELECTRIC CABLE IN CONDUIT, SERVICE, NO. 6 3 C	FOOT	38.00	\$ 6.00	\$ 228.00	\$ 6.04	\$ 229.52	\$ 5.84	\$ 221.92	\$ 5.91	\$ 224.58				
87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6	FOOT	650.00	\$ 4.50	\$ 2,925.00	\$ 1.53	\$ 994.50	\$ 1.48	\$ 965.00	\$ 1.50	\$ 975.00				
87502490	TRAFFIC SIGNAL POST, GALVANIZED STEEL 15 FT.	EACH	4.00	\$ 1,500.00	\$ 6,000.00	\$ 1,299.26	\$ 5,197.04	\$ 1,255.80	\$ 5,023.20	\$ 1,271.07	\$ 5,084.28				



Tabulation of Bids

Project: Sheridan Road - Phase II (Eleanor Pl to Richmond Ave)
County: Peoria
Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761
Section: 18-00372-01-PV
Estimate: \$3,725,000.00
Date: 8-Jan-20
Time: 11:00 AM
Appropriation:

Name of Bidder:	Illinois Civil Contractors, Inc.	R.A. Cullinan & Son, UCM	Otto Baum Company
Address of Bidder:	420 Pinecrest Dr East Peoria, IL 61611	121 W Park St, PO Box 166 Tremont, IL 61568	866 N Main St Morton, IL 61550
Proposal Guarantee:	5% Bid Bond	5% Bid Bond	5% Bid Bond
Terms:			

Attended By: City of Peoria: B. Lewis, S. Letsky, F. Muhammad, M. Mahoney; IDOT: S. Alwan, Al-Barrae Shebib; Contractors: UCM Rep, ICCI Rep, Otto Baum Rep; Consultants: B. Beckstrom (Hanson), C. Lynn (Maurer Stutz)

Approved Engineer's Estimate			
------------------------------	--	--	--

Item No.	Item	Unit	Quantity	Illinois Civil Contractors, Inc.		R.A. Cullinan & Son, UCM		Otto Baum Company			
				Unit Price	Total	Unit Price	Total	Unit Price	Total		
87600200	PEDESTRIAN PUSH-BUTTON POST, TYPE II	EACH	3.00	\$ 1,600.00	\$ 4,800.00	\$ 1,232.99	\$ 3,698.97	\$ 1,191.75	\$ 3,575.25	\$ 1,206.24	\$ 3,618.72
87702880	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 30 FT.	EACH	1.00	\$ 10,000.00	\$ 10,000.00	\$ 13,008.86	\$ 13,008.86	\$ 12,573.75	\$ 12,573.75	\$ 12,726.59	\$ 12,726.59
87702890	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 32 FT.	EACH	1.00	\$ 10,500.00	\$ 10,500.00	\$ 13,714.98	\$ 13,714.98	\$ 13,256.25	\$ 13,256.25	\$ 13,417.39	\$ 13,417.39
87702900	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 34 FT.	EACH	1.00	\$ 11,000.00	\$ 11,000.00	\$ 13,687.82	\$ 13,687.82	\$ 13,230.00	\$ 13,230.00	\$ 13,390.82	\$ 13,390.82
87702920	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 38 FT.	EACH	1.00	\$ 11,500.00	\$ 11,500.00	\$ 14,643.79	\$ 14,643.79	\$ 14,154.00	\$ 14,154.00	\$ 14,326.05	\$ 14,326.05
87800100	CONCRETE FOUNDATION, TYPE A	FOOT	12.00	\$ 250.00	\$ 3,000.00	\$ 262.89	\$ 3,154.68	\$ 254.10	\$ 3,049.20	\$ 257.19	\$ 3,086.28
87800150	CONCRETE FOUNDATION, TYPE C	FOOT	3.00	\$ 500.00	\$ 1,500.00	\$ 401.94	\$ 1,205.82	\$ 388.50	\$ 1,165.50	\$ 393.22	\$ 1,179.66
87800400	CONCRETE FOUNDATION, TYPE E 30-INCH DIAMETER	FOOT	54.00	\$ 275.00	\$ 14,850.00	\$ 273.76	\$ 14,783.04	\$ 264.60	\$ 14,288.40	\$ 267.82	\$ 14,462.28
87900200	DRILL EXISTING HANDHOLE	EACH	1.00	\$ 275.00	\$ 275.00	\$ 276.32	\$ 276.32	\$ 267.08	\$ 267.08	\$ 270.33	\$ 270.33
88040070	SIGNAL HEAD, POLYCARBONATE, LED, 1-FACE, 3-SECTION, BRACKET MOUNT	EACH	4.00	\$ 850.00	\$ 3,400.00	\$ 856.03	\$ 3,424.12	\$ 827.40	\$ 3,309.60	\$ 837.46	\$ 3,349.84
88040090	SIGNAL HEAD, POLYCARBONATE, LED, 1-FACE, 3-SECTION, MAST ARM MOUNT	EACH	4.00	\$ 900.00	\$ 3,600.00	\$ 841.91	\$ 3,367.64	\$ 813.75	\$ 3,255.00	\$ 823.64	\$ 3,294.56
88040110	SIGNAL HEAD, POLYCARBONATE, LED, 1-FACE, 4-SECTION, BRACKET MOUNT	EACH	4.00	\$ 1,000.00	\$ 4,000.00	\$ 994.00	\$ 3,976.00	\$ 960.75	\$ 3,843.00	\$ 972.43	\$ 3,889.72
88040120	SIGNAL HEAD, POLYCARBONATE, LED, 1-FACE, 4-SECTION, MAST ARM MOUNT	EACH	4.00	\$ 1,000.00	\$ 4,000.00	\$ 999.43	\$ 3,997.72	\$ 966.00	\$ 3,864.00	\$ 977.74	\$ 3,910.96
88102825	SIGNAL HEAD, POLYCARBONATE, LED, 1-FACE, BRACKET MOUNTED WITH COUPLER	EACH	8.00	\$ 850.00	\$ 6,800.00	\$ 608.35	\$ 4,866.80	\$ 588.00	\$ 4,704.00	\$ 595.15	\$ 4,761.20
88200110	TRAFFIC SIGNAL BACKPLATE, LOUVERED	EACH	16.00	\$ 250.00	\$ 4,000.00	\$ 154.26	\$ 2,468.16	\$ 149.10	\$ 2,385.60	\$ 150.91	\$ 2,414.56
88800100	PEDESTRIAN PUSH-BUTTON	EACH	16.00	\$ 300.00	\$ 4,800.00	\$ 315.04	\$ 5,040.64	\$ 304.50	\$ 4,872.00	\$ 308.20	\$ 4,931.20
89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	EACH	1.00	\$ 4,000.00	\$ 4,000.00	\$ 4,888.51	\$ 4,888.51	\$ 4,725.00	\$ 4,725.00	\$ 4,782.44	\$ 4,782.44
X0326812	CAT 5 ETHERNET CABLE	FOOT	203.00	\$ 1.65	\$ 334.95	\$ 2.11	\$ 428.33	\$ 2.04	\$ 414.12	\$ 2.06	\$ 418.18
X0326905	CLOSED CIRCUIT TELEVISION DOME CAMERA, IP BASED	EACH	1.00	\$ 3,600.00	\$ 3,600.00	\$ 4,575.64	\$ 4,575.64	\$ 4,422.60	\$ 4,422.60	\$ 4,476.36	\$ 4,476.36
X0327611	REMOVE AND REINSTALL BRICK PAVER	SQ FT	1800.00	\$ 20.00	\$ 36,000.00	\$ 12.06	\$ 21,708.00	\$ 12.86	\$ 23,148.00	\$ 13.02	\$ 23,436.00
X0540000	BRICK PAVERS	SQ FT	12487.00	\$ 12.00	\$ 149,844.00	\$ 12.28	\$ 153,340.36	\$ 13.91	\$ 173,694.17	\$ 14.08	\$ 175,816.96
X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	SQ YD	230.00	\$ 25.00	\$ 5,750.00	\$ 37.75	\$ 8,682.50	\$ 34.75	\$ 7,992.50	\$ 36.93	\$ 8,493.90
X6021065	INLETS, TYPE G-1, SPECIAL	EACH	4.00	\$ 3,500.00	\$ 14,000.00	\$ 3,303.68	\$ 13,214.72	\$ 3,089.23	\$ 12,356.92	\$ 3,342.66	\$ 13,370.64
X6026050	SANITARY MANHOLES TO BE ADJUSTED	EACH	8.00	\$ 1,000.00	\$ 8,000.00	\$ 545.03	\$ 4,360.24	\$ 3,434.53	\$ 2,746.24	\$ 1,579.98	\$ 12,639.84
X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	L SUM	1.00	\$ 75,000.00	\$ 75,000.00	\$ 22,432.81	\$ 22,432.81	\$ 28,381.50	\$ 28,381.50	\$ 49,627.57	\$ 49,627.57
X8140115	HANDHOLE TO BE ADJUSTED	EACH	3.00	\$ 1,000.00	\$ 3,000.00	\$ 1,259.06	\$ 3,777.18	\$ 1,216.95	\$ 3,650.85	\$ 1,231.74	\$ 3,695.22
XX000300	CONCRETE STEPS	SQ FT	96.00	\$ 60.00	\$ 5,760.00	\$ 66.93	\$ 6,425.28	\$ 89.25	\$ 8,588.00	\$ 125.15	\$ 12,014.40
XX006751	STAIR RAILING	FOOT	31.00	\$ 275.00	\$ 8,525.00	\$ 341.27	\$ 10,579.37	\$ 338.23	\$ 10,485.13	\$ 342.34	\$ 10,612.54
XX006429	SIDEWALK, SPECIAL	SQ FT	956.00	\$ 16.00	\$ 15,296.00	\$ 8.41	\$ 8,039.96	\$ 25.42	\$ 24,301.52	\$ 23.48	\$ 22,446.88
XX006498	COMBINATION CONCRETE CURB AND SIDEWALK 4 INCH (SPECIAL)	SQ FT	912.00	\$ 12.00	\$ 10,944.00	\$ 15.74	\$ 14,354.88	\$ 17.64	\$ 16,087.68	\$ 19.79	\$ 18,048.48
XX006891	CIPP LINER FOR SANITARY SEWER MAIN 8"	FOOT	650.00	\$ 200.00	\$ 130,000.00	\$ 41.28	\$ 26,832.00	\$ 39.90	\$ 25,935.00	\$ 41.45	\$ 26,942.50
XX007201	6" PVC SEWER SERVICE PIPE	FOOT	56.00	\$ 75.00	\$ 4,200.00	\$ 488.85	\$ 27,375.60	\$ 472.50	\$ 26,460.00	\$ 517.76	\$ 28,994.56
XX007449	CONCRETE EDGING 12" WIDE	FOOT	2536.00	\$ 35.00	\$ 88,760.00	\$ 23.48	\$ 59,545.28	\$ 32.97	\$ 83,611.92	\$ 48.46	\$ 122,894.56
XX008362	SANITARY SEWER SERVICE TEE	EACH	7.00	\$ 500.00	\$ 3,500.00	\$ 81.48	\$ 570.36	\$ 78.75	\$ 551.25	\$ 488.87	\$ 3,422.09
XX008839	WATER MAIN TO BE ABANDONED	L SUM	1.00	\$ 2,000.00	\$ 2,000.00	\$ 15,208.69	\$ 15,208.69	\$ 14,700.00	\$ 14,700.00	\$ 2,326.73	\$ 2,326.73
XX009304	LUMINAIRE, LED, HORIZONTAL MOUNT, MEDIUM WATTAGE	EACH	4.00	\$ 800.00	\$ 3,200.00	\$ 716.98	\$ 2,867.92	\$ 693.00	\$ 2,772.00	\$ 701.43	\$ 2,805.72
Z0007430	TEMPORARY SIDEWALK	SQ FT	400.00	\$ 5.50	\$ 2,200.00	\$ 6.56	\$ 2,624.00	\$ 9.80	\$ 3,920.00	\$ 7.63	\$ 3,052.00
Z0010605	CLEANING DRAINAGE SYSTEM	L SUM	1.00	\$ 10,000.00	\$ 10,000.00	\$ 2,281.30	\$ 2,281.30	\$ 2,205.00	\$ 2,205.00	\$ 7,035.65	\$ 7,035.65
Z0013798	CONSTRUCTION LAYOUT	L SUM	1.00	\$ 40,000.00	\$ 40,000.00	\$ 25,642.93	\$ 25,642.93	\$ 39,847.50	\$ 39,847.50	\$ 28,849.52	\$ 28,849.52
Z0016702	DETOUR SIGNING	L SUM	1.00	\$ 30,000.00	\$ 30,000.00	\$ 8,429.96	\$ 8,429.96	\$ 8,148.00	\$ 8,148.00	\$ 34,422.79	\$ 34,422.79
Z0033070	VIDEO VEHICLE DETECTION, 4 CAMERAS	EACH	1.00	\$ 21,000.00	\$ 21,000.00	\$ 26,589.13	\$ 26,589.13	\$ 25,699.80	\$ 25,699.80	\$ 26,012.20	\$ 26,012.20
Z0056648	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 12"	FOOT	344.00	\$ 80.00	\$ 27,520.00	\$ 130.36	\$ 44,843.84	\$ 126.00	\$ 43,344.00	\$ 129.13	\$ 44,420.72
Z0056900	SANITARY SEWER 8"	FOOT	56.00	\$ 100.00	\$ 5,600.00	\$ 18.47	\$ 1,034.32	\$ 17.85	\$ 999.60	\$ 536.02	\$ 30,017.12
Z0075505	TIMBER RETAINING WALL REMOVAL	FOOT	212.00	\$ 25.00	\$ 5,300.00	\$ 40.43	\$ 8,571.16	\$ 9.41	\$ 1,994.92	\$ 17.50	\$ 3,710.00
Z0076600	TRAINEES	HOURLY	750.00	\$ 0.80	\$ 600.00	\$ 0.80	\$ 600.00	\$ 0.80	\$ 600.00	\$ 0.80	\$ 600.00
Z0076604	TRAINEES TRAINING PROGRAM GRADUATE	HOURLY	750.00	\$ 15.00	\$ 11,250.00	\$ 15.00	\$ 11,250.00	\$ 15.00	\$ 11,250.00	\$ 15.00	\$ 11,250.00
PEO00001	ROADWAY LED LUMINAIRE ASSEMBLY WITH POLE AND ARMS	EACH	6.00	\$ 10,000.00	\$ 60,000.00	\$ 10,417.95	\$ 62,507.70	\$ 10,069.50	\$ 60,417.00	\$ 10,191.90	\$ 61,151.40
PEO00002	ROADWAY AND SIDEWALK LED LUMINAIRE ASSEMBLY WITH POLE AND ARMS	EACH	10.00	\$ 12,000.00	\$ 120,000.00	\$ 12,523.27	\$ 125,232.70	\$ 12,104.40	\$ 121,044.00	\$ 12,251.54	\$ 122,515.40
PEO00003	TRAFFIC SIGNAL PEDESTAL AND LIGHTING CONTROLLER COMBINATION UNIT, SPECIAL	EACH	1.00	\$ 7,000.00	\$ 7,000.00	\$ 7,169.81	\$ 7,169.81	\$ 6,930.00	\$ 6,930.00	\$ 7,014.24	\$ 7,014.24
PEO00004	LANDSCAPE BLOCK WALL REMOVAL	FOOT	32.00	\$ 25.00	\$ 800.00	\$ 23.61	\$ 755.52	\$ 20.12	\$ 643.84	\$ 11.32	\$ 362.24
PEO00005	CONCRETE STEP REMOVAL	SQ FT	147.00	\$ 15.00	\$ 2,205.00	\$ 20.55	\$ 3,020.85	\$ 7.93	\$ 1,165.71	\$ 16.39	\$ 2,409.33
PEO00006	DUCTILE IRON WATER MAIN CROSS, 8" X 8"	EACH	1.00	\$ 1,325.00	\$ 1,325.00	\$ 1,032.02	\$ 1,032.02	\$ 997.50	\$ 997.50	\$ 722.30	\$ 722.30
PEO00007	TAPPING VALVES AND SLEEVES 24"x8"	EACH	1.00	\$ 4,000.00	\$ 4,000.00	\$ 6,409.37	\$ 6,409.37	\$ 6,195.00	\$ 6,195.00	\$ 6,376.06	\$ 6,376.06
PEO00008	LANDSCAPE RESTORATION	SQ FT	200.00	\$ 20.00	\$ 4,000.00	\$ 19.01	\$ 3,802.00	\$ 18.38	\$ 3,676.00	\$ 18.60	\$ 3,720.00
PEO00009	EMERGENCY VEHICLE PREEMPTION SYSTEM	EACH	1.00	\$ 30,400.00	\$ 30,400.00	\$ 13,508.57	\$ 13,508.57	\$ 13,056.75	\$ 13,056.75	\$ 13,234.59	\$ 13,234.59
			Total	As Read	\$3,725,834.95	\$3,938,811.03	\$3,967,999.99	\$4,126,670.73			

